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1 Setup

1.1 Setup

compile.sh

#!/bin/bash

g++ $1 && ./a.out < ipt.in > opt.out
sudo chmod u+x compile.sh

vim ~/.bashrc
alias run='~/compile.sh’

1.2 template

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")

#define IO cin.tie(@), ios::sync_with_stdio (@)

#define All(x) x.begin(), x.end()

#define endl "\n"

#define sort_unique(x) sort(All(x)); x.erase(unique(All(x)),
x.end());

#tdefine REP(i,n) for(int i = @; i < n; i++)

#define printld(a) {for(auto v: a) cout << v << " "; cout <<
endl;}

#define eb emplace_back

#define pb push_back

#define ne nth_element

#define 1b lower_bound

#define ub upper_bound

#define int long long

typedef pair<int, int> pii;

typedef vector<int> vi;

using namespace std;

#include <bits/extc++.h>

#include <ext/pb_ds/assoc_container.hpp>

#include <ext/pb_ds/tree_policy.hpp>

using namespace __gnu_pbds;

#define multiset tree<ll, null_type,less_equal<ll>,
rb_tree_tag,tree_order_statistics_node_update>

order_of_key (k) nums strictly smaller than k

find_by_order(k): index from ©

/*

| Tag | push | pop | join | modify |

| paring_heap_tag | o(1) | o(lgN) | o(1) | O(lgN) |

| thin_heap_tag | o(1gN)| o(1lgN) | 1B | 2 |

| binomial_heap_tag | o(1) | o(lgN) | o(1) | Oo(lgN) |

| rc_binomial_heap_tag | 0(1) | O(lgN) | 0o(1) | O(lgN) |

| binary_heap_tag | o(1) | o(lgN) | 18 | o(lgN) |

typedef __gnu_pbds::priority_queue<pair<int,ii>,less<pair<int
,ii>>,rc_binomial_heap_tag> heap;

int32_t main(){
10;

return 0;
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2.1 10

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")

#define IO cin.tie(@), ios::sync_with_stdio(0)

#define All(x) x.begin(), x.end()

#define sort_unique(x) sort(All(x)); x.erase(unique(All(x)),
x.end());

#define ne nth_element

using namespace std;

#include <bits/extc++.h>

#include <ext/pb_ds/assoc_container.hpp>

#include <ext/pb_ds/tree_policy.hpp>

using namespace __gnu_pbds;

#define multiset tree<ll, null_type,less_equal<ll>,
rb_tree_tag,tree_order_statistics_node_update>

order_of_key (k) nums strictly smaller than k

find_by_order(k): index from @

/*

| Tag | push | pop | join | modify |
| paring_heap_tag | o(1) | o(lgN) | o(1) | o(lgN) |
| thin_heap_tag | o(1gN)| o(lgN) | 18 | (=] |
| binomial_heap_tag | o(1) | o(lgN) | o(1) | o(lgN) |
| rc_binomial_heap_tag | 0(1) | 0(1lgN) | 0(1) | 0(1lgN) |
| binary_heap_tag | o(1) | o(lgN) | 12 | o(lgN) |

*/
typedef __gnu_pbds::priority_queue<pair<int,ii>,less<pair<int
,ii>>,rc_binomial_heap_tag> heap;

3 Data_ Structure
3.1 HRERHE

11 v[1le5] , seg[4e5+7] ;
void StructSEG(int 1 , int r , 11 node){
if(l==r) seg[node] = v[r] ;
else{
int mid = (1+r) >> 1 , tmp =
StructSEG(1,mid,tmp) ;
StructSEG(mid+1,r,tmp+1) ;
seg[node] = seg[tmp] + seg[tmp+1l] ;

node << 1;

}

int query(int tL , int tR , int nL , int nR , int node){
int mid = (nL+nR)>>1 , ans = @ ;
if(tL <= nL & & nR <= tR) return seg[node] ;

if(tL <= mid) ans += query(tL,tR,nL ,mid, (node<<1) );

if(tR > mid) ans += query(tL,tR,mid+1,nR ,(node<<1l)+1);
return ans ;
¥
void updateNode(int idx , int val , int 1 , int r , int node)
if(1 == r) seg[node] = val , v[idx] = val ;
else{
intm=(1+r) > 1;
int leftNode = (node << 1) ;
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int rightNode = (node << 1) + 1 ;

if(idx <= m && idx >= 1) updateNode(idx , val , 1 , m
, leftNode ) ;

else updateNode(idx , val , m+l,r , rightNode ) ;

seg[node] = seg[leftNode] + seg[rightNode] ;

}
}
int main(){
I0;
int n, q, 1, r;
cin >> n >> q;
for(int 1 =1 ; i <= n ; i++) cin >> v[i] ;
StructSEG(1,n,1) ;
while(q--){
cin >> 1 >> r ;
cout << query(l,r,1,n,1) << '\n' ;
}

= S o R Ex e

#define Ls(x) x << 1

#define Rs(x) x << 1 | 1

int N = 1e5+5;

vector<int> segTree(4*N), lazy(4*N) , arr(N);

3.2

void build(int 1, int r, int idx = 1){
if(l == r){
segTree[idx] = arr[l];
return;
int mid = (1+r) >> 1;

build(1l, mid, Ls(idx));

build(mid+1, r, Rs(idx));

segTree[idx] = segTree[Ls(idx)]+ segTree[Rs(idx)];
}

void pushDown(int 1, int r, int idx){
if(lazy[idx] == @) return;
segTree[idx] += (r-1+1)*lazy[idx];
if(l !'= r) lazy[Ls(idx)] += lazy[idx],lazy[Rs(idx)] +=
lazy[idx];
lazy[idx] = o;

void update(int 1, int r, int ql, int val, int idx =
1){
pushDown(l, r, idx);
if(1 > gr || r < ql) return;
if(l >= gl && r <= gr){
segTree[idx] += (r-1+1)*val;
if(1 != r) lazy[Ls(idx)] += val, lazy[Rs(idx)] += val

int qr,

H
return;

int mid = (l+r) >> 1;

update(l, mid, ql, qr, val, Ls(idx));

update(mid+1, r, ql, gr, val, Rs(idx));
segTree[idx] = segTree[Ls(idx)]+ segTree[Rs(idx)];
}
int query(int 1, int r, int ql, int gr, int idx = 1){

pushbDown(1l, r, idx);
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int

if(l > gqr || r < gql) return @;

if(l >= ql && r <= qr) return segTree[idx];

int mid = (l+r) >> 1, sum = ©@;

if(ql <= mid) sum += query(l, mid, ql, qgr, Ls(idx));
if(gqr > mid) sum += query(mid+1, r, ql, gr, Rs(idx));
return sum;

main(){
int n, t;
cin >> n >> t;
for(int 1 = 1; i <= n; i++) cin >> arr[i];
build(1,n,1);
for(int 1 = @0; 1 < t; i++){
int j, 1, r, v;
cin >> j;
if(3 == 1){
cin >> 1 >> r >> v;
update(1,n,1,r,v);
}else{
cin >> r;
cout << query(r,1,n) << endl;

// prefix sum

#pragma GCC optimize("03","unroll-loops")
#include <bits/stdc++.h>

#define IO ios_base::sync_with_stdio(®), cin.tie(®), cout.tieis2

#define endl

(@)
\n'

#tdefine Ls(x) x << 1

#define Rs(x) (x << 1)

| 1

using namespace std;
typedef long long 11;

int

vector<ll> segTree(4 * N, -2e18),

void build(int 1, int r, int idx =

N = 2e5 + 5;
lazy(4 * N),

F)

1){

if(l == r){
segTree[idx] =
return;

arr[1l];

int mid = (l+r) >> 1;
build(l, mid, Ls(idx));
build(mid+1, r, Rs(idx));

segTree[idx] = max(segTree[Ls(idx)], segTree[Rs(idx)]);

}
void pushDown(int 1, int r, int idx, int x = 0){
if(lazy[idx] == @) return;
segTree[idx] += lazy[idx];
int mid = (1 + r) / 2;
if(1l != r) lazy[Ls(idx)] += lazy[idx],lazy[Rs(idx)] +=
lazy[idx];
lazy[idx] = ©;
}
void update(int 1, int r, int gl, int qr, 11 val, int idx =

A

pushDown(1l, r, idx);

arr(N), tmp(N)
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if(1 > gqr || r < gl) return;
if(l >= gl && r <= gr){
/* segTree[idx] += val; */
lazy[idx] += val;
pushDown(1l, r, idx);
return;
}
int mid = (1+r) >> 1;
update(l, mid, ql, qr, val, Ls(idx));
update(mid+1, r, ql, qr, val, Rs(idx));
segTree[idx] = max(segTree[Ls(idx)], segTree[Rs(idx)]);

11 query(int 1, int r, int ql, int idx =
pushDown (1, r, idx);

if(1 > qr || r < gl) return -2e18;

if(l >= ql && r <= qgr) return segTree[idx];
11 mid = (1+r) >> 1, ans = -2el8;

ans = max(ans, query(l, mid, ql, qr, Ls(idx)));

ans = max(ans, query(mid+l, r, ql, qr, Rs(idx)));
segTree[idx] = max(segTree[Ls(idx)], segTree[Rs(idx)]);
return ans;

int qr,

11

int main(){

10;

int n, q;

cin >> n >> q;

for(int i = 1; i <= n; i++) cin >> tmp[i];

arr = tmp;

for(int i = 2; i <= n; i++) arr[i] += arr[i-1];

build(1, n, 1);
while(q--){
int j, k, u;
cin >> j >> k >> u;
if(j == 1) update(1, n, k, n, u - tmp[k] ), tmp[k] =
us;
else cout << max(@ll, query(1l, n, k, u) - (kl=1?query
(1, n, k-1, k-1):0)) << endl;
}
}

3.3 Kurskal

struct Edge {
int src;
int dest;
int weight;

Edge(int s, int d, int w) src(s), dest(d), weight(w) {}
s
int findParent(const vector<int>& parent, int i) {

if (parent[i] == i) return i;

return findParent(parent, parent[i]);

vector<Edge> kruskalMST(const vector<vector<int>>&
adjacencyMatrix) {
int size = adjacencyMatrix.size();
vector<Edge> mst, edges;
for (int i = @0; i < size; ++i) {
for (int j =1 + 1; j < size; ++j) {
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if (adjacencyMatrix[i][j] > @) edges.push_back(
Edge(i, j, adjacencyMatrix[i][j]));
}

sort(edges.begin(), edges.end(),
Edge& e2) {
return el.weight < e2.weight;

[J(const Edge& el, const

s
vector<int> parent(size);
for (int 1 = 0; i < size;
int count = @;
for (const Edge& edge edges) {
if (count == size - 1) break;
int srcParent = findParent(parent, edge.src) ,
destParent = findParent(parent, edge.dest);
if (srcParent != destParent) {
mst.push_back(edge);
++count;
parent[srcParent] =

++1) parent[i] = i;

destParent;
}
}

return mst;

3.4 Prim

vector<Edge> primMST(const vector<vector<int>>&
adjacencyMatrix) {
int size = adjacencyMatrix.size();
vector<bool> visited(size, false);
vector<Edge> mst;
priority_queue<Edge, vector<Edge>,
Edge)>> pq(
[1(const Edge& el, const Edge&
> e2.weight; }

function<bool (Edge,

e2) { return el.weight

)5
visited[@] = true;
for (int i = 1; i < size; ++i) {
if (adjacencyMatrix[@][i] > @) {
pq.push(Edge(®, i, adjacencyMatrix[0][i]));
}

}
while (!pqg.empty()) {
Edge minEdge = pq.top();
pq.pop();
int u = minEdge.dest;
if (visited[u]) continue;
visited[u] = true;
mst.push_back(minEdge);
for (int v = @; v < size; ++v) {
if (adjacencyMatrix[u][v] > © && !visited[v]) pq.
push(Edge(u, v, adjacencyMatrix[u][v]));
}
}

return mst;

3.5 DAG
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void DFS(map<int,queue<int>> &graph , map<int,bool> &visited

, int place , stack<int> &ans){
if(visited[place] == true) return;
visited[place]=true;
while(!graph[place].empty())

DFS(graph, visited, graph[place].front() , ans) ,

graph[place].pop() ;
ans.push(place);

for(auto&n:graph) DFS(graph , visited , n.first , ans) ;

while(!ans.empty()) cout << ans.top() <<

3.6 Unionfind

int Find(int*a,int n){
if(a[n]==n)return n;
return a[n]=Find(a,a[n]);

void Union(int*a,int n,int m){
a[Find(a,n)]=Find(a,m);
}

3.7 CDQ

#include <bits/stdc++.h>
using namespace std;

#define fastio ios_base::sync_with_stdio(false); cin.tie(®);

#define endl '\n'
#define _ << ' ' <«
const int INF = 2e9;

struct info {
int t, p;
long long x;
/] B x B -1le9 ~ 1le9> RRERBMBHR
/] & x >= INF> R REZ#HH
// MEHBBHERS (x - INF)
/7 BB 2 R B x BLERA INF + 2
/&

};

int n, q;
vector<info> v;
vector<long long> ans;

void cdq(int 1, int r) {
if (1 == r) return;

int mid =

vector<info> temp;
long long add_sum = 0;
int pl = 1, pr = mid+1;

while (pl <= mid && pr <= r) {
if (vlpll.p <= v[pr].p) {
temp.emplace_back(v[pl]);

, ans.pop();

x <= -INF> —ERRRBB > RAFABEAMOOHM[

(1+r) / 2; cdq(l, mid); cdq(mid+1, r);
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int

if (abs(v[pl].x) <= 1e9) {
add_sum += v[pl].x;

}
pl++;
}
else {
temp.emplace_back(v[pr]);
if (v[pr].x >= INF) {
ans[v[pr].x - INF] += add_sum;
} else if (v[pr].x <= -INF) {
ans[-(v[pr].x + INF)] -= add_sum;
pr++;
}

}

while (pl <= mid) {
temp.emplace_back(v[pl]);
/] NVNVEAE s ERBENER—KRITUARE
// if (abs(v[pl].x) <= 1e9) {
// add_sum += v[pl].x;
/] }
pl++;

while (pr <= r) {
temp.emplace_back(v[pr]);
if (v[pr].x >= INF) {
ans[v[pr].x - INF] += add_sum;
} else if (v[pr].x <= -INF) {
ans[-(v[pr].x + INF)] -= add_sum;
pr++;

}

for (int 1 =1, j = 0; i <= r; i++, j++) {
v[i] = temp[]];
}

main() {
fastio

cin >> n >> q;
v.clear(); ans.clear();

int time = ©0;
vector<long long> arr(n+l);

for (int p = 1; p <= n; p++) {
long long x; cin >> x;
v.emplace_back(info{++time, p, x});
arr[p] = x;

}
int ask_id = @;
for (int i = 0; i < q; i++) {

int op; cin >> op;

if (op == 1) {
int p; long long x;
cin >> p >> x;
v.emplace_back(info{++time,
arr[p] = x;

}
else {

int 1, r; cin >> 1 >> r;

p, x - arr[pl});

145

159

}

v.emplace_back(info{++time, r,
if (1 > 1) v.emplace_back(info{time, 1-1,

ask_id});
ask_id++;
ans.emplace_back(®@);
}
}
cdq(@, (int)v.size()-1);

for (int i = @; i < (int)ans.size(); i++)
cout << ans[i] << endl;

return 0;

struct info {

s

int

int x, y, id; // id @ 8 8 £ R & & 5 B

N;

vector<info> v;
vector<int> ans;

void cdq(int L, int R) {

int

if (L == R) return;

int mid = (L + R) / 2;
cdq(L, mid);
cdq(mid + 1, R);

vector<info> temp;
int pl = L, pr = mid + 1;

while (pl <= mid &&% pr <= R) {

if (v[pll.y < v[prl.y) {
temp.emplace_back(v[pl]);
pl++;

} else {
temp.emplace_back(v[pr]);
ans[v[pr].id] += (pl - L);
pr++;

¥

while (pl <= mid) {
temp.emplace_back(v[pl]);
pl++;

}

while (pr <= R) {
temp.emplace_back(v[pr]);
ans[v[pr].id] += (pl - L);
pr++;

}

for (int pt = @, pv = L;
vlpv] = temp[pt];
}

pv <= R; pt++, pv++) {

main() {

/] BB B OH &
cdq(e, N - 1);
/WO E E;

B x 8 F;

INF + ask_id});

-INF
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return 0;

struct info {

int x, y, z, id; // id 2 8 8 # R X [&E 3 0N U B
s
int N;
vector<info> v;
vector<int> ans;
void cdq(int L, int R) {

if (L == R) return;
int mid = (L + R) / 2;
cdq(L, mid);

cdgq(mid + 1, R);

vector<info> temp;
vector<pair<int, int>> BIT_op; // BIT_op: %
mEME 82 B8R UBE-

g {R £ BIT
& B 0 &

int pl = L, pr = mid + 1;
while (pl <= mid && pr <= R) {
if (vipll.y < vprl.y) {
temp.emplace_back(v[pl]);
BIT.upd(v[pl].z, 1);
BIT_op.emplace_back(make_pair(v[pl]l.z, 1));
pl++;
} else {
temp.emplace_back(v[pr]);
ans[v[pr].id] += BIT.qry(v[pr].z - 1);
pr++;

}

while (pl <= mid) {
temp.emplace_back(v[pl]);
pl++;

}

while (pr <= R) {
temp.emplace_back(v[pr]);
ans[v[pr].id] += BIT.qry(v[pr].z - 1);
pr++;

}

for (int pt = 0, pv =
vlpv] = temp[pt];

L; pv <= R; pt++, pv++) {

// B 88 PR B # fF, & BIT &
for (auto& op BIT_op) {

BIT.upd(op.first, -op.second);
}

B % e R R

int main() {
/1A B H R B xR
cdq(e, N - 1);

//wm o E

B

return 0;

N
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3.8 DSU

#include <bits/stdc++.h>
using namespace std;

class UnionFind {

private:

vector<int> parent;
vector<int> rank;

public:

UnionFind(int size)

}
int
}

int

int

}

parent(size), rank(size,
for(int i = 0; 1 < size; ++i) {
parent[i] = i;

getSize() const {
return parent.size();

find(int p) {
if(p < @ || p >= parent.size())
throw out_of_range("Out of bound.");

while(p != parent[p]) {
parent[p] = parent[parent[p]];
p = parent[p];

return p;

findR(int p) {
if(p < @ || p >= parent.size())
throw out_of_range("Out of bound.");

if(p != parent[p])
parent[p] = findR(parent[p]);
return parent[p];

bool isConnected(int p, int q) {

}

return find(p) == find(q);

void unionElements(int p, int q) {

int

int pRoot =
int qRoot =

find(p);
find(q);

if(pRoot == gRoot)
return;

if(rank[pRoot] < rank[qRoot]) {

parent[pRoot] = qRoot;

} else if(rank[qRoot] < rank[pRoot]) {
parent[qRoot] = pRoot;

} else {
parent[pRoot] = qRoot;

rank[qRoot J++;

countConnectedNodes (int p) {
int root = find(p);
int count = 0;

for (int i = @; i < parent.size(); i++) {
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if (find(i) == root) {
count++;
}

}

return count;
s

int main() {
UnionFind uf(10@);

uf.unionElements(1,
uf.unionElements(2,
uf.unionElements (4,
uf.unionElements(3,

2);
3);
5);
4);

cout << "Is 1 connected to 3? " << (uf.isConnected(1, 3)
? "Yes" "No") << endl;

cout << "Is 1 connected to 5? " << (uf.isConnected(1, 5)
? "Yes" "No") << endl;

cout << "Number of nodes connected to 3: " << uf.

countConnectedNodes (4) << endl;

return 0;

4 DP

4.1 LIS

void LIS(vector<int> &arr){
vector<int> 1lis;
for(int 1 = @; 1 < arr.size(); i++){
auto it = lower_bound(lis.begin(), lis.end(), arr[i])

if(it == lis.end()) lis.push_back(arr[i]);
else *it = arr[i];
}

cout << lis.size() << endl;

4.2 LCS2LIS

int LCS2LIS(string &a, string &b){
vector<int> List;
for(int 1 = @0; 1 < b.size(); i++)
for(int j = 0; j < a.size(); j++)
if(b[i] == a[j]) List.push_back(j);
if(List.size() == @) return 0;
vector<int> dp(List.size(), 1);
for(int i = 1; 1 < List.size(); i++){
if(List[i] > dp.back()) dp.push_back(List[i]);
else *lower_bound(dp.begin(), dp.end(), List[i]) =
List[i];
}

return dp.size();
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4.3 LCSgD 26 b[i] %= MOD; 15 if (sum[e.second] == -1)
27 } 16 g.emplace(d + e.first, e.second);
28 while(t--){ 17 } return sum;
1] int main(){ 29 11 q; 18
2 string x,y,z ; cin >> x >> y > z ; 30 cin >> q; 19| int main(){
3 cout << lcsOf3(x,y,z , x.size() , y.size() , z.size()) << 31 cout << (a[gq-1] + b[g-1])%MOD << endl; 20 int n,m,s; cin>>n>>m>>s;
endl; 32 } 21 vector<vector<pii>> G(n+1);
4|} 33| } 22 while(m--) {
5 23 int u,v,w; cin>>u>>v>>w;
6| int 1lcsOf3( string X, string Y, string Z, int m, int n, int o 24 G[u].emplace_back(w,v);
M 25
7 int L[m+1][n+1][o0+1]; 1 26 vector<ll> dis = dijkstra(s,G);
8 for (int 1=0; i<=m; i++){ 46 retCUttlng 27 for(int i=1; i<=n; i++) cout<<dis[i]<<" \n"[i==n];
9 for (int j=0; j<=n; j++){ 28| }
10 for (int k=0; k<=o0; k++){ . s
u if =m0 |13 = 0llkem) LUIOIIE = 0i 3l Ui noneopace std;
. : . : 5
12 else if (X[i-1] == Y[j-1] && X[i-1]==Z[k-1]) 3| typedef long long 11;
L[i.][j.][k] - L[i'l][j'l].[k-l]. * 1 cars 4 5.2 BellmanFord
13 else L[i][J1[k] = max(max(L[i-11[FICKI,LII03 4| ipt dp[505]1[505];
-110k1), L3103 10k-11); 6 ’
" ¥ 7|11 f(int x, int y){ 1| typedef pair<int,int> pii;
1; , } 8 iig:Fy;[r‘?tlﬁrn ? 5 dolx1ly] 2| const int maxn = 1e5+5;
9 i p[x][y] !'= @) return dp[x][y]; 3| const int INF = @x3f3f3f3f;
17 return L{m][n][o]; 10 11 ans = 2e18; 4| vector<pii> G[maxn];
18] } 11 for(int i = 1; i < x; i++){ 5| int dis[maxn];
12 ans = min(ans,f(i,y) + f(x-i,y) + 1); 6| bool BellmanFord(int n,int s) {
13 7 for(int i=1; i<=n; i++) dis[i] = INF;
14 for(int i = 1; 1 < y; i++){ 8 dis[s] = 0;
44 LCS 15 ans = min(ans,f(i,x) + f(y-i,x) + 1); 9 boo£ g*elax;
16 10 for(int r=1; r<=n; r++) { //O0(VE)
17 return dp[x][y] = ans; 11 relax = false;
1‘ B ELE+ 18| } 12 for(int i=1; i<=n; i++)
2| else max(%, L) 19 13 for(pii e:G[i])
20| int main(){ 14 if( dis[i] + e.second < dis[e.first] )
21 15 dis[e.first] = dis[i] + e.second, relax =
22 int x,y; true;
: 23 cin >> x >> y; 16 }
4.5 countlngTours 24 cout << f(x,y); 17 return relax; //B&E8
25| } 18] }
1| #include <bits/stdc++.h> 1o int [naln(){ L. .
2| #define IO cin.tie(®), ios::sync_with_stdio(®) 20 mF n,m,s; CIN>>N>>m>>s;
3| #define All(x) x.begin(), x.end() z; Whll'zr(jil'l;)v{w. AN SU> 5> U
1 i . 1 Bl P Pl R
4 #defl;'ee:;(r‘)t)_?nlque(x) sort(All(x)); x.erase(unique(All(x)), 5 Graph s G[u].emplace back(v,w);
. 24
5 #deﬁ_.ne ne nth_element 25 if(BellmanFord(n,s)) cout<<"negative cycle\n";
6| #define INF 1e9 o . . : : s T " wrs
- #define MOD 1000008007 5]_ DleStI'a 26 else for(int i=1; i<=n; i++) cout<<dis[i]<<" \n"[i==n];
8| #define Q 1000000 27] }
9| typedef long long 11; o
10| ubing nameseace etd; /7 MRBEHFAE LOBOREEH - 0/1-bised HRE - edge
11
12 2| * B {costdest} R - BIBFEMNEINEZAHE -1 Rm src & 5.3 SPFA
13| vector<1l> a(Q+1), b(Q+1); &
14 3| * REB **/
15 4| typedef pair<1l, int> pii; 1| typedef pair<int,int> pii;
16| int main(){ 5| vector<1ll> dijkstra(int src, vector<vector<pii»>>& edge) { 2| const int maxn = 1e5+5;
17 I0; 6 vector<ll> sum(edge.size(), -1); 3| const int INF = Ox3f3f3f3f;
18 11 t; 7 priority_queue<pii, vector<pii>, greater<pii>> q; 4| vector<pii> G[maxn]; int dis[maxn];
19 cin >> t; 8 g.emplace(@, src); 5| void SPFA(int n,int s) {
20 a[@e] = b[o] = 1; 9 while (q.size()) { 6 for(int i=1; i<=n; i++) dis[i] = INF;
21 10 int v = gq.top().second; 11 d = q.top().first; 7 dis[s] = ©;
22 for(1ll 1 = 1; i <= Q; i++){ 11 q.pop(); 8 queue<int> q; q.push(s);
23 a[i] = a[i-1] + b[i-1] + a[i-1]; 12 if (sum[v] != -1) continue; 9 bool inque[maxn] = {};
24 b[i] = a[i-1] + b[i-1] + b[i-1]*3; 13 sum[v] = d; 10 while(!q.empty()) {
25 a[i] %= MOD; 14 for (auto& e edge[v]) 11 int u = q.front(); q.pop();
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int

5.4

stru

};

stru

inque[u] = false;

for(pii e:G[u]) {
int v = e.first , w = e.second;
if( dis[u] + w < dis[v]) {

if(!inque[v]) q.push(v), inque[v] = true;

dis[v] = dis[u] + w;

}
main(){

int n,m,s; cin>>n>>m>>s;
while(m--) {
int u,v,w; cin>>u>>v>>w;
G[u].emplace_back(v,w);

SPFA(n,s);

for(int i=1; i<=n; i++) cout<<dis[i]<<" \n"[i==n];

MaxFlow

ct edge{

int from, to, cap, flow;

edge(int u, int v, int c, int f)
, flow(f) {}

ct Dinic{

vector<edge> edges;

vector<vector<int>> adj;

vector<int> level, ptr;

int n, m = 0, s, t;

Dinic(int n, int s, int t)
adj.resize(n);
level.resize(n);
ptr.resize(n);

n(n), s(s),

}

void addEdge(int u, int v, int c){
edges.emplace_back(u, v, c, 0);
edges.emplace_back(v, u, 0, 0);
adj[u].push_back(m);
adj[v].push_back(m+1);
m += 2;

}
bool bfs(){
fill(level.begin(), level.end(), -1)
queue<int> q;
q.push(s);
level[s] = ©;
while(!q.empty()){
int u = q.front();

q.pop();

for(int id adjf[ul){
if(edges[id].cap - edges[id]

continue;

int v = edges[id].to;
if(level[v] != -1) continue;
level[v] = level[u] + 1;

) q.push(v);

return level[t] != -1;

from(u), to(v), cap(c)

t(e){

>

.flow < 1)

64

75
76
77
78

11
12
13

}

int dfs(int u, int pushed){
if(pushed == 9) return 0;
if(u == t) return pushed;

for(int& cid = ptr[u]; cid < (int)adj[u].size(); cid

++){
int id = adj[u][cid];
int v = edges[id].to;

if(level[u] + 1 != level[v] || edges[id].cap -
edges[id].flow < 1) continue;
int tr = dfs(v, min(pushed, edges[id].cap - edges

[id].flow));
if(tr == @) continue;
edges[id].flow += tr;
edges[id~1].flow -= tr;
return tr;
}

return 0;

int flow(){
int f = @;
while(true){
if(!bfs()) break;
fill(ptr.begin(), ptr.end(), ©);

while(int pushed = dfs(s, INT_MAX)){

f += pushed;
}

return f;

}

i;t main(){

int n, m, s, t;
cin >> n >> m > s > t;
Dinic dinic(n, s, t);
for(int i = 0; 1 < m; i++){
int u, v, c;
cin >> u >> v >> c;
dinic.addEdge(u, v, c);

cout << dinic.flow() << endl;

5.5 EdmondsKarp

int main(){

int n,m,b,e,s,t,w,q=1;
while(cin>>n,n){

int ans=0,go=1,Min,a[n+1][n+1]={},last[n+1]={},can[n

+1]={};cin>>b>>e>>m;

while(m--){cin>>s>>t>>w;a[s][t]=a[t][s]+=w;}

while(go){go=90;

queue<int> Q;Q.push(b);Min=99999999;

while(Q.size()){

int top=Q.front();Q.pop();can[top]l=1;
for(int k=1;k<=n;k++)if(a[top][k]&&!can[k]){
last[k]=top;if(k==e){go=1;break;}Q.push(

k);}
if(go){
int S=s=e;

while(last[s])Min=min(Min,a[last[s]][s]),

s=last[s];
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while(last[S])a[last[S]][S]-=Min,a[S][
last[S]]+=Min,S=1ast[S];

ans+=Min;

fill_n(last,n+1,0);fill_n(can,n+1,0);

break;

}

}
printf("Network %d\nThe bandwidth is %d.\n\n",qg++,ans

)5

6 Math

6.1 Bignumber

// a+b
string add(string a, string b) {
string ans;
int carry = 0;
while (a.size() < b.size()) a = '@’
while (a.size() > b.size()) b = '@’
for (int i = a.size() - 1; i >= 0;
int tmp = a[i] - '@"' + b[i] - '
carry = tmp / 10;

+ a;
+ b;
i--) o

0' + carry;

ans = char(tmp % 10 + '0') + ans;

if (carry) ans = '1' + ans;
return ans;

}

// a - b

string sub(string a, string b) {
string ans;
int carry = 0;
while (a.size() < b.size()) a = '@’
while (a.size() > b.size()) b = '@’
for (int i = a.size() - 1; i >= 0;
int tmp = a[i] - b[i] - carry;
if (tmp < @) {
tmp += 10;
carry = 1;
} else carry = 0;
ans = char(tmp + '0') + ans;

while (ans.size() > 1 && ans[0] ==
return ans;

}

// a *b
string mul(string a, string b) {
string ans;
int carry = 0;
for (int i = a.size() - 1; i >= 0;
string tmp;

+ a;
+ b;

i--) {

'0') ans.erase(0,

i--) |

for (int j = b.size() - 1; j >= 0; j--) {
int t = (a[i] - '@') * (b[j] - '@"') + carry;

carry = t / 10;
tmp = char(t % 10 + '0") +

tmp;

1);
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45 if (carry) tmp = char(carry + '0") + tmp; 108 32 LL i=a.mi,n=a.mn,d=a.md;
46 for (int j = ©; j < a.size() - 1 - i; j++) tmp += '©'109|// A - B 33 if(i<@]||n<@){xout<<'-";i=-i,n=-n;}

; 110 // B - A 34 xout<<i;if(n)xoutc<".";
47 ans = add(ans, tmp); 11| // A + B 35 set<LL>ns;ns.insert(0);
48 carry = 0; 112 36 while(ns.find(n)==ns.end()){ns.insert(n);n*=10;xout<<n/d;
49 } 113| string add(string a, string b){ n%=d;}
50 return ans; 114 // center = '.' 37 return xout;
51| } 115 // decimal part 38| }
52 116 string ans; 39| int main(){
53| // a / b 117 int carry = 0; 40 int csj;cin>>cs;
54| string div(string a, string b) { 118 int center = 0; 41 Frac a,b;
55 string ans; 119 while (a.size() < b.size()) a = '0' + a; 42 while(cin>>a>>b){
56 string tmp; 120 while (a.size() > b.size()) b = '@' + b; 43 auto ans=a+b;
57 for (int 1 = @; i < a.size(); i++) { 121 for (int i = a.size() - 1; i >= @; i--) { 44 cout<<ans<<endl;
58 tmp += a[i]; 122 if (a[i] == '.") { 45 }
59 int cnt = 0; 123 center = 1; 46 return 0;
60 while (tmp.size() >= b.size()) { 124 ans = '.' + ans; 47|}
61 if (tmp.size() > b.size() || tmp >= b) { 125 continue; 48
62 tmp = sub(tmp, b); 126 } 49| string operator+(string a,string b){
63 cnt++; 127 int tmp = a[i] - '@' + b[i] - '@' + carry; 50 string ans = "";
64 } else break; 128 carry = tmp / 10; 51 if(a.size() > b.size()) b = string(a.size()-b.size(),'0")
65 } 129 ans = char(tmp % 10 + '0"') + ans; .append(b);
66 ans += char(cnt + '0"); 130 } 52 else a = string(b.size()-a.size(),'0")
67 131 if (carry) ans = '1' + ans; .append(a);
68 while (ans.size() > 1 & ans[@] == '0') ans.erase(0, 1); 132 if (center) ans = '.' + ans; 53 int c=0,tt=0;
69 return ans; 133 return ans; 54 for(int i=a.size()-1;i>=0;i--){
70| } 134| } 55 if(a[i] == '.") {ans = string(".").append(ans);
71 continue;}
72| // a % b 56 int x = a[i]-'@' , y = b[i]-'0";
73| string mod(string a, string b) { . 57 X = X+y+C;
74 string ans; 6.2 BignumberDec 58 c=x/10;
75 string tmp; 59 if(c==1 && i-1>=0 && a[i-1] == "'.' ) tt=1;
76 for (int 1 = @; i < a.size(); i++) { 60 ans = to_string(x%1@).append(ans);
77 tmp += a[il]; 1| #include <iostream> 61 }
78 int cnt = 0; 2| #include <string.h> 62
79 while (tmp.size() >= b.size()) { 3| #include <set> 63 string temppp = string("e.").append(ans.size()-2-ans.find
80 if (tmp.size() > b.size() || tmp >= b) { 4| #include <sstream> ('."),"'0").append("1");
81 tmp = sub(tmp, b); 5| using namespace std; 64 if(tt) ans = ans + temppp;
82 cnt++; 6| typedef long long LL; 65 if(c) ans = string("1").append(ans);
83 } else break; 7| class Frac{public: 66 return ans;
84 8 LL mi,mn,md; 67| }
85 ans += char(cnt + '0"); 9 Frac(LL i=0,LL n=0,LL d=1){ 68
86 } 10 i+=n/d;n%=d; 69
87 return tmp; 11 while((i<0@&&n>0) || (i>08&&n<0)){ 70| string operator-(string a,string b){
88| } 12 if(n<@)n+=d,i-=1; 71 string ans="";
89 13 else n-=d,i+=1; 72
90| // a ~ b 14 } 73 if(a.size() > b.size()) b = string(a.size()-b.size(),'0")
91| string pow(string a, string b) { 15 mi=i,mn=n,md=d; .append(b);
92 string ans = "1"; 16 while(n%=d)swap(n,d);if(d<0)d=-d; 74 else a = string(b.size()-a.size(),'0")
93 while (b != "0") { 17 mn/=d;md/=d; .append(a);
94 if ((b[b.size() - 1] - '@') % 2) ans = mul(ans, a); 18 } 75
95 a = mul(a, a); 19 Frac operator+(Frac b){return Frac(mi+b.mi,mn*b.md+md*b. 76
96 b = div(b, "2"); mn,md*b.md);} 77 int c=0,tt=0,xx=0,1ii=0;
97 } 20| }; 78 while(ii<b.size() &&a[ii] == b[ii]) ii++;
98 return ans; 21| istream&operator>>(istream&xin,Frac&a){string s;xin>>s;int sn 79 if(ii==b.size());
99| } =s[@]=="-";if(sn)s=s.substr(1); 80 else if(a[ii] < b[ii]) {tt=1;swap(a,b);}
100 22 int pos=s.find('."');LL i,n,d; 81
11| // a + b (ATRABE) 23 if(pos==-1){istringstream(s)>>i;n=0;d=1; 82 for(int i=a.size()-1;i>=0;i--){
102| string add(string a, string b) { 24 }else{ istringstream(s.substr(@,pos))>>i; 83 if(a[i] == '.') {ans = string(".").append(ans);
103 if (a[@] == '-' && b[@] == '-') return '-' + add(a.erase 25 istringstream(s.substr(pos+1))>>n; continue;}

(0, 1), b.erase(0, 1)); 26 istringstream(string(s.size()-1-pos,'9"))>>d; 84 int x=a[i]-'0',y=b[i]-"'0";
104 if (a[@] == '-') return sub(b, a.erase(9, 1)); 27 85 X=X-C-Y;
105 if (b[@] == '-') return sub(a, b.erase(Q, 1)); 28 if(sn)i=-i,n=-n; 86 if(x<0){c=1;x+=10;}
106 return add(a, b); 29 a=Frac(i,n,d);return xin; 87 else c=90;
107 } 30| } 88 if(c==1 && i-1>=0 && a[i-1]=="'.") xx=1;
31| ostream&operator<<(ostream&xout,Frac&a){ 89 ans = to_string(x%1@).append(ans);
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90 }

91

92 string temppp = string("0.").append(ans.size()-2-ans.find
("."),'@").append("1");

93 if(xx) ans = ans - temppp;

94

95 while(ans[@0]=="0" && ans.size()>=2 && ans[1] !=

96 ans = ans.substr(l,ans.size()-1);

97 }

98

99 if(tt || c==1) ans = string("-").append(ans);

100 return ans;

101 }

6.3 4REF

1| vector<bool>p(n,1);

2| vector<int>prime;

3| for(int i=2;i<n;i++){

4 if(p[i])prime.push_back(i);
5 for(auto&k:prime){

6 if(i*k>=n)break;

7 p[i*k]=0;

8 if(i%k==0)break;

9 }

10| }

6.4 Fib

[

1/sqrt(5)*(pow((1+sqrt(5))/2,n)-pow((1l-sqrt(5))/2,n))

BHE

vector<pair<int,int>> v(n);

for(auto&n:v) cin >> n.first >> n.second;

int area = 0;

for(int i 0; i < v.size(); i++){
area += v[i].first * v[(i+1)%v.size()].second;
area -= v[i].second * v[(i+1)%v.size()].first;

6.5

Bw N =
wounn

0 N @

cout << abs(area)/2 << endl;

6.6 SG

1| Anti Nim (REHEE—BEFER)
2| BEF BB if and only if

31, THiB) BWETFH#MA 1 BFEMN sc EH o-
42, THLE) HMNAFH AN 1 BH#HEN sc EXE o0-

6| Anti-SG (REEEHENEBER)
7| EHE SG EA o B BEHER
s| BISEF B if and only if

A
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1. BEEPRBEE—BHEMN 6 BB AR 1 B#EEMN sc KB AE o-
2. WEHPEMEE—BEMN Sc RBAN 1 BFEEMN sc REALEH o

Sprague-Grundy
EA- - BEH
EEECE N
BRERAR
HEBRSAER
BREMB
ELARNNTEBER

AUV A WN R

SG(S) WER o : ®BF (PR

AE o HFN)LB

int mex(set S) {
// find the min number >= © that not in the S
// e.g. S =4{0, 1, 3, 4} mex(S) = 2

}
state = []
int SG(A) {
if (A not in state) {
S = sub_states(A)
if( len(S) > 1 ) state[A] = reduce(operator.xor,
for B in S])
else state[A] = mex(set(SG(B) for B in next_states(A)))
} return state[A]

[sG(B)
}

6.7 IREBREERE

// % a,b > & ax+by=gcd(a,b)
typedef pair<1l, 11> pii;
pii extgcd(1ll a, 11 b) {
if (b == @) return {1, 0};
11 k = a / b;
pii p = extgcd(b, a - k * b);
return {p.second, p.first - k * p.second};

6.8 FPow

// B arp
11 fastpow(ll a, int p) {
11 ret = 1;
while (p) {
if (p & 1) ret *= a;
a *= a, p >=1;

} return ret;

¥
// B (a ~ p) mod m
11 fastpow(ll a, 11 p,
11 ret = 1;
while (p) {
if (p & 1) ret = ret * a % m;
a=a*a%m p >>=1;
} return ret;

11 m) {
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6.9 BEHDHE

LL func(const LL n,const LL mod,const int c) {
return (LLmul(n,n,mod)+c+mod)%mod;
}
LL pollorrho(const LL n, const int ¢) {//TREBEHEE
LL a=1, b=1;
a=func(a,n,c)%n;
b=func(b,n,c)%n; b=func(b,n,c)%n;
while(gcd(abs(a-b),n)==1) {
a=func(a,n,c)%n;
b=func(b,n,c)%n; b=func(b,n,c)%n;
return gcd(abs(a-b),n);

void prefactor(LL &n, vector<LL> &v) {
for(int i=0;i<12;++i) {
while(n%prime[i]==0) {
v.push_back(prime[i]);
n/=prime[i];
}
}

void smallfactor(LL n, vector<LL> &v) {
if (n<MAXPRIME) {
while(isp[(int)n]) {
v.push_back(isp[(int)n]);
n/=isp[(int)n];

}
v.push_back(n);
} else {
for(int i=0;i<primecnt&&prime[i]*prime[i]<=n;++i) {
while(n%prime[i]==0) {
v.push_back(prime[i]);
n/=prime[i];

}
if(n!=1) v.push_back(n);

void comfactor(const LL &n, vector<LL> &v) {
if(n<1e9) {
smallfactor(n,v);
return;

}

if(Isprime(n)) {
v.push_back(n);
return;

}

LL d;

for(int c=3;;++c) {
d = pollorrho(n,c);
if(d!=n) break;

comfactor(d,v);
comfactor(n/d,v);

void Factor(const LL &x, vector<LL> &v) {
LL n = Xx;
if(n==1) { puts("Factor 1");
prefactor(n,v);
if(n==1) return;
comfactor(n,v);
sort(v.begin(),v.end());

return; }
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void AllFactor(const LL &n,vector<LL> &v) {

vector<LL> tmp;

Factor(n,tmp);

v.clear();

v.push_back(1);

int len;

LL now=1;

for(int i=0;i<tmp.size();++1i) {

if(i==e || tmp[i]!=tmp[i-1]) {

len = v.size();
now = 1;

now*=tmp[i];
for(int j=0;j<len;++j)
v.push_back(v[j]*now);

6.10 Expression

/**

* RERENAEENIR - MNAEENTHE BERALAER

(R IES
*RAFEE BEHER - EHE (FHRE)
MAIES

c XEHNFRA

*FIRERE - EEMRAMAE - JUERER - AFHEEER - HFH

AT A

*EBHREUEST - AURTHRELEZEMER (FIW0 --1 /A 1

+-+-1
*R/E -1
Bl bR
* R HERGBUEELHER -
*/
void req(bool b) { if (!b) throw ""; }
const int B = 2; // AIMAGEEM B EAI
class Expr {
private:
deque<char> src;

cEFHERBAFE - EEHEMRMN long long

Expr(const string& s)
inline char top() {
return src.empty() ?

inline char pop() {

src(s.begin(), s.end()) {}

‘\o' src.front();

char ¢ = src.front(); src.pop_front();

}
11 n() {

11 ret = pop() - '0';

/] BEZLEHFM o ME > MEET

// req(ret || !isdigit(top()));

while (isdigit(top())) ret = B * ret + pop() -
return ret;

}
11 fac() {

if (isdigit(top())) return n();
if (top() == '-") { pop(); return -fac(); }
if (top() == "(") {
pop();
11 ret = expr(1)
req(pop() == ")’
return ret;

)

R IES

return c;
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/] BEAFZRELER > MLET
// if(top() == '+') { pop(); return fac(); }
throw "";
}
11 term() {
11 ret = fac(); char c = top();
while (¢ == "*' || c == "/" || c == "%") {
pop();
if (c == "*') ret *= fac();
else {
11 t = fac(); req(t);
if (c == '/') ret /= t; else ret %= t;
c = top();
} return ret;
}
11 expr(bool k) {
11 ret = term();
while (top() == '+' || top() == '-")
if (pop() == '+') ret += term();
else ret -= term();
req(top() == (k ? ")" : "\@"));
return ret;
public:
/] HEHBREENFTSE KHE - EELFEE EHER-
static 11 eval(const string& s) {
/] BEERLEZERMER - MLENT
// req(s.find("--") == -1); // RIEZEER
// req(s.find("-+") == -1);
// req(s.find("+-") == -1);
// req(s.find("++") == -1);
return Expr(s).expr(0);
}
s

6.11 JosephusProblem

// 0(n) space and O(nlogn) time

#pragma GCC optimize("03","unroll-loops")
#include <bits/extc++.h>

#include <bits/stdc++.h>

#define IO cin.tie(@), ios::sync_with_stdio(9)
#define 11 long long

#define INF Ox3f3f3f3f

#define MAXN 100000

#define orderset tree<ll,null_type,less<ll>,rb_tree_tag,

tree_order_statistics_node_update>
using namespace __gnu_pbds;
using namespace std;

int32_t main(){

I0;

int n, k ;

cin >> n >> k;

orderset s;

for(int i=1;i<=n;i++)s.insert(i);

int pos = ©;

while(s.size()){
pos = (pos + k) % s.size();
auto it = s.find_by_order(pos);
cout << *it << " ";

s.erase(it);

}

// 0(1) space and O(n) time
#include <iostream>
using namespace std;

int Josephus(int N, int k){

// Initialize variables i and ans with 1 and ©

// respectively.

int i = 1, ans = 0;

// Run a while loop till i <= N
while (i <= N) {

// Update the Value of ans and Increment i by 1

ans = (ans + k) % i;
i++;

}

// Return required answer
return ans + 1;

}

// main function

int main(){
int N = 14, k = 2;
cout << Josephus(N, k) << endl;
return 0;

// 0(n) space and O(n) time
#include <bits/stdc++.h>
using namespace std;

// Recursive function to implement the Josephus problem

int josephus(int n, int k)
if (n == 1)

return 1;
else

// The position returned by josephus(n - 1, k)

}

// is adjusted because the recursive call

// josephus(n - 1, k) considers the

// original position k % n + 1 as position 1
return (josephus(n - 1, k) + k - 1) % n + 1;

// Driver code
int main()

{
int n = 14;
int k = 2;
cout << "The chosen place is " << josephus(n, k);
return 0;
}

// asking last one 0O(klog(n))
/I RSRAELIERR > BREM
int josephus(int n, int k) {
if (k == 1) return n - 1;
int ans = 0;
for (int i = 2; i <= n; ) {
if (ans + k >= 1) {



89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109

© W N OO AW e

WOW W W W WNNNNNNNNNDNRE B R R e R R e e
Gk @R O © KO0 OR WQWNRO®®NO WA ®WN - O

MCU-NL

10

ans = (ans + k) % i;
i++;
continue;
}
int step = (i - 1 - ans - 1) / (k - 1); //B FHE
if (i + step > n) {
ans += (n - (i - 1)) * k;
break;
}
i += step;
ans += step * k;
}
return ans;

¥

int main() {
int n, k;
while (scanf("%d%d", &n, &k) == 2)
printf("%d\n", josephus(n, k) % n + 1);
return 0;

}

7 String

7.1 Trie

class Trie {
private:
struct Node {
int cnt = @, sum = ©;
Node *tr[128] = {};
~Node () {
for (int i = ©; i < 128; i++)
if (tr[i]) delete tr[i];
}
s
Node *root;
public:
void insert(char *s) {
Node *ptr = root;
for (; *s; s++) {
if (!ptr->tr[*s]) ptr->tr[*s] = new Node();
ptr = ptr->tr[*s];
ptr->sum++;
}

ptr->cnt++;

inline int count(char *s) {
Node *ptr = find(s);
return ptr ? ptr->cnt : 0;

}
Node *find(char *s) {
Node *ptr = root;
for (; *s; s++) {
if (!ptr->tr[*s]) return 0;
ptr = ptr->tr[*s];
} return ptr;
}
bool erase(char *s) {
Node *ptr = find(s);
if (!ptr) return false;

e
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int num = ptr->cnt;
if (!num) return false;
ptr = root;
for (; *s; s++) {
Node *tmp = ptr;
ptr = ptr->tr[*s];
ptr->sum -= num;
if (!ptr->sum) {
delete ptr;
tmp->tr[*s] = 0;
return true;

}

Trie() { root = new Node(); }
~Trie() { delete root; }

7.2 AC B

struct _AC{
_AC *child[26];
_AC *Fail;
vector<pair<int,int>> out;
_ACOH){
Fail = NULL;
memset(child,®,sizeof(child));

}*root;
void Insert_AC(string s){
int n;
_AC *p = root;
for(auto&k:s){
n=%k- "a';
if(!p->child[n]) p->child[n] = new _AC();
p = p->child[n];

p->out.push_back({s.size(),0});

void Construct_AC(){
queue<_AC*> Q;
for(int k=0;k<26;k++){
if(root->child[k]){
root->child[k]->Fail = root;
Q.push(root->child[k]);
}

else root->child[k] = root;

}
_AC *p;
while(!Q.empty()){
p = Q.front();
Q.pop();
for(int k=0;k<26;k++){
if(!p->child[k])p->child[k] = p->Fail->child[k];
else {
p->child[k]->Fail = p->Fail->child[k];
for(auto&i:p->Fail->child[k]->out)p->child[k]->out.
push_back({i.first,1});
Q.push(p->child[k]);
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void Match_AC(string t){
int n;
_AC *p = root;
for(int k=0;k<t.size();k++){
n = t[k] - 'a’';
p = p->child[n];
_AC *fail = p;
while(fail != root && fail->out.size()){
for(auto&i:fail->out)if(!i.second||fail->Fail->out.size
())cout<<t.substr(k-i.first+1,i.first)<<'\n";
fail->out.clear();
fail->Fail->out.clear();
fail = fail->Fail;
}
}
}

int main(){
int n,m;string p,t;cin>>n;
while(cin>>n>>m){
root = new _AC();
while(n--){
cin>>p;
Insert_AC(p);

Construct_AC();
cin>>n>>m;
cin>>t;
Match_AC(t);

7.3 KMP

// KMP fail function.
int* kmp_fail(string& s) {

int* f = new int[s.size()]; int p = f[@] = -1;
for (int i = 1; s[i]; i++) {
while (p != -1 && s[p + 1] != s[i]) p = f[p];
if (s[p + 1] == s[i]) p++;
fli] = p;
return f;

}
// B sub £ str IR -
int kmp_count(string& str, string& sub) {
int* fail = kmp_fail(sub); int p = -1, ret = 0;
for (int i = @; 1 < str.size(); i++) {
while (p != -1 && sub[p + 1] != str[i]) p = fail[p];
if (sub[p + 1] == str[i]) p++;
if (p == sub.size() - 1) p = fail[p], ret++;
¥
delete[] fail; return ret;
}
// B sub E str B—RHIRAIFIE index
int kmp(string& str, string& sub) {
int* fail = kmp_fail(sub);
int i, j = o;
while (i < str.size() &% j < sub.size()) {
if (sub[j] == str[i]) i++, j++;
else if (j == @) i++;
else j = fail[j - 1] + 1;

o -1 RmMHLAE -
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¥
delete[] fail;
return j == sub.size() ? (i - j) : -1;

7.4 LPS

int 1lps(string s){
int N=2*s.size()+1;
vector<int> dp(N);
string s2="*";
for (auto&c:s){
s2.push_back(c);
s2.push_back('*");

int C=0,R=0;
for(int 1 = 1;i < N;i++){
if(i>R)C=R=i;
else{
int mirrorI=C-(i-C);
dp[i]=min(dp[mirrorI],R-1i);

int j=dp[i]+1;
while((i-j>=0)&&(1i+j<N)&&(s2[i-j]==s2[i+]j]))j++;
dp[i]=j-1;
if(i+dp[i]>R){

C=i;

R=i+dp[i];

}

return *max_element(dp.begin(),dp.end());
}

string lps(string s){
int N=2*s.size()+1;
vector<int> dp(N);
string s2="*";
for (auto&c:s){
s2.push_back(c);
s2.push_back('*");

int C=0,R=0;
for(int 1 = 1;i < N;i++){
if(i>R)C=R=i;
else{
int mirrorI=C-(i-C);
dp[i]=min(dp[mirrorI],R-1);

}
int j=dp[i]+1;
while((i-j>=0)8&&(i+j<N)&&(s2[i-j]==s2[i+]]))j++;
dp[i]=3-1;
if(i+dp[i]>R){

C=i;

R=i+dp[i];

}

auto it=max_element(dp.begin(),dp.end());
int maxLen=*it;

int index=it-dp.begin();

return s.substr((index-maxLen)/2,maxLen);
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7.5 EditDistance

// B src E| dst B9ER/)\ edit distance
// ins A —1BF TR A
// del PR — 185 7T b9 LA
// sst Bi—@F TR

11 edd(string& src, string& dst, 11 ins, 11 del, 11 sst) {
11 dp[src.size() + 1][dst.size() + 1]; // AA WK1t
for (int i = ©; i <= src.size(); i++) {

for (int j = 0; j <= dst.size(); j++) {
if (i == @) dp[il[j] = ins * J;
else if (j == @) dp[i][]j] = del * i;
else if (src[i - 1] == dst[j - 1])
dp[i][3] = dp[i - 11[F - 11;
else
dp[i][3j] = min(dp[i][j - 1] + ins,
min(dp[i - 1][j] + del,
dp[i - 1][j - 1] + sst));
}
return dp[src.size()][dst.size()];
}

8 Geometry

8.1 angle

/I BEENBES iEESEARAARE
/) BEEFHAEE KE—EMER
// @ <= angle <= 2*PI
vector<double> angle(const vector<pair<int,int>>& v){
vector<double> ret;
for(int i = 0; i < v.size(); i++){
int x1 = v[(i-1+v.size())%v.size()].first - v[i].
first;
int y1 = v[(i-1+v.size())%v.size()].second - v[i].
second;
int x2 = v[(i+1)%v.size()].first - v[i].first;
int y2 = v[(i+1)%v.size()].second - v[i].second;
double a = atan2(x1, yl1) - atan2(x2, y2);
if(a < @) a += 2*M_PI;
ret.push_back(a);
// ret = ret*180/M_PI // convert to degree
}
return ret;
}

// HEZEENRNAAE
// @ <= angle <= 2*PI

double angle(const pair<int,int>& a, const pair<int,int>& b,

const pair<int,int>& c){

int x1 = a.first - b.first;
int y1 = a.second - b.second;
int x2 = c.first - b.first;

int y2 = c.second - b.second;

double ret = atan2(x1, yl) - atan2(x2, y2);
if(ret < @) ret += 2*M_PI;

return ret;

// ret = ret*180/M_PI // convert to degree
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/] RWARR B (SRR RR)
// @ <= angle <= 2*PI
pair<double,double> intersection(const pair<double,double>&

pl, const pair<double,double>& p2, const pair<double,
double>& ql, const pair<double,double>& q2){

double al = p2.second - pl.second;

double bl = pl.first - p2.first;

double cl1 = al * pl.first + bl * pl.second;
double a2 = g2.second - ql.second;

double b2 = gl.first - g2.first;

double c2 = a2 * gql.first + b2 * gl.second;
double det = al * b2 - a2 * bil;

return make_pair((b2 * c1 - bl * c2) / det,

* cl) / det);

(al * c2 - a2

8.2 ConvexHull

void Dhull(vector<pii> points ,

vector<pii> &hull){
hull.push_back(points[@]) , hull.push_back(points[1]);
for(int i = 2 ; i < points.size() ; i++){
while(hull.size() >= 2){
pair<int,int> p1 = hull[hull.size()-2] , p2 =
hull[hull.size()-1] , p3 = points[i];
int x1 = p2.first - pl.first , yl = p2.second -
pl.second;
int x2 = p3.first - p2.first , y2 = p3.second -
p2.second;
if(x1*y2 - x2*yl <= @) break;
hull.pop_back();

}
hull.push_back(points[i]);
}

int main(){

10 ;

vector<pair<int,int>> points,hull;

intn, x,vy;

cin >> n ;

for(int 1 = 0 ; 1 < n ; i++) cin>>x>>y , points.pb({x,y})

sort(points.begin() , points.end());

Dhull(points,hull) ;

reverse(points.begin(),points.end());

Dhull(points,hull) ;

for(auto p hull) cout << p.first <<
endl;

<< p.second <<

8.3 EEER

### BB RRYYH

3| EE—EMBE RE—EALZER REKRINZBERLERSENR

4

5
6
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minStrip = min(minStrip, strip[i].distanceTo(
strip[k]));
return min(d, minStrip);
}
double closestPair(Point points[], int n) {

Point px[n], py[n];

for (int 1 = 0; 1 < n; i++) {
px[i] points[i];
py[i] = points[i];

sort(px, px
sort(py, py

+ n, compareX);
+ n, compareY);

return closestPair(px, py, n);

typedef pair<ll, 11> pii;

#define x first

#define y second

11 dd(const pii& a, const pii& b) {
11 dx = a.x - b.x, dy = a.y - b.y;
return dx * dx + dy * dy;

const 11 inf = 1e18;
11 dac(vector<pii>& p, int 1, int r) {

if (1 >= r) return inf;
intm=(1+r)/ 2;
11 d = min(dac(p, 1, m), dac(p, m + 1, r));
vector<pii> t;
for (int i =m; i >= 1 && p[m].x - p[i].x < d; i--)
t.push_back(p[i]);
for (int 1 =m + 1; i <= r & & p[i].x - p[m].x < d; i++)
t.push_back(p[i]);
sort(t.begin(), t.end(),
[1(pii& a, pii& b) { return a.y < b.y; });
int n = t.size();
for (int 1 = 0; i < n - 1; i++)
for (int j = 1; j < 4 && i + j < n; j++)
/) EETNMEZMMEZ /Y
d = min(d, dd(t[i], t[i + j1));
return d;
¥

/] B HR S REIMBNER TWFERL -
11 closest_pair(vector<pii>& pp) {

sort(pp.begin(), pp.end());
return dac(pp, 9, pp.size() - 1);
}
BN EHT —fHpairRERTRE > HEfxMyp sl RxMy B 1E -

ddERBERARFEME <BOERNTS -
dacBRXTEMDBRY - BE—EMEpAMMEESILMr SERHE

REBELEHPERR/NNIEHNERTS -
MRIANRERr > BIREinf RNEEEEHSEAERNNE -
mEFERS -
BERBESHAREYXBOMNAFBINR/NER -
tR— AR Fvector » ERFRIEPREEXH BB/ NRINMAER -
RExLRUEPHRAGE CAWESEFEPEEE LB/ RIE -
BE RByLEHPNMETHR -

24| RPN EBEYN RTFEREBRTRN=ZEH (WREMEFRE)
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8.5 MinCircle

using PT = point<T>;
using CPT = const PT;
PT circumcenter(CPT &a, CPT &b, CPT &c) {
PT u = b-a, v =c-a;
T cl = u.abs2()/2, c2 =
T d = u.cross(v);
return PT(a.x+(v.y*cl-u.y*c2)/d, a.y+(u.x*c2-v.x*cl)/d);
}
void solve(PT p[], int n,
random_shuffle(p,p+n);
c =p[el; r2=0; // c,r2 = B, ¥EFH
for(int i=1; i<n; i++)
if( (p[i]-c).abs2() > r2) {
c=p[i]; r2=e;
for(int j=0; j<i; j++)
if( (p[3]-c).abs2() > r2) {
c.x = (p[i].x+p[3].x)/2;
c.y = (p[i].y+p[3l.y)/2;
r2 = (p[jl-c).abs2();
for(int k=0; k<j; k++)
if( (p[k]-c).abs2() > r2) {
c = circumcenter(p[i], p[j], p[k]);
r2 = (p[il-c).abs2();

v.abs2()/2;

PT &c, T &r2){

}
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BEEMNE  Welzsl MEXBHEERPEIBIEH N EEREE
BREE ETRAEREAANEAMBASE -
DA 2 8 B o 0 G

T cpp

Circle welzl(vector<Point> & P, list<Point> R = list<Point>()

) {
if (P.empty() || R.size() == 3) {
return trivial(R);

}
int idx = rand() % P.size();
Point p = P[idx];

P.erase(P.begin() + idx);

Circle d = welzl(P, R);

if (inside(d, p)) {
return d;
¥

R.push_back(p);

return welzl(P, R);

HELEMEEF > Circle # “point” DBRRTEMEBNBERGE > °
trivial® 2—EHEBRH > AREAER (INEBRES
H o 1-2 8 3 @AEK) > inside’ E—AREHESTEER
ARSI 8
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BoOMURNMAATEUGEEIREMREEERSEEREF -
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DA 272 =005 A9 5% AR AR A
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8.6 MaximumBipartiteMatching

// M is number of applicants
// and N is number of jobs
#define M 6

#define N 6

// A DFS based recursive function
// that returns true if a matching
// for vertex u is possible

bool bpm(bool bpGraph[M][N], int u,bool seen[], int matchR[])

{
// Try every job one by one
for (int v = 0; v < N; v++){

// If applicant u is interested in

// job v and v is not visited

if (bpGraph[u][v] && !seen[v]){
// Mark v as visited
seen[v] = true;
// If job 'v' is not assigned to an
// applicant OR previously assigned
// applicant for job v (which is matchR[v])
// has an alternate job available.
// Since v is marked as visited in
// the above line, matchR[v] in the following
// recursive call will not get job 'v' again
if (matchR[v] < @ || bpm(bpGraph, matchR[v],seen,

matchR)){
matchR[v] = u;
return true;

}

}

return false;

¥

// Returns maximum number
// of matching from M to N
int maxBPM(bool bpGraph[M][N]){
// An array to keep track of the
// applicants assigned to jobs.
// The value of matchR[i] is the
// applicant number assigned to job i,
// the value -1 indicates nobody is
// assigned.
int matchR[N];
// Initially all jobs are available
memset(matchR, -1, sizeof(matchR));
// Count of jobs assigned to applicants
int result = 0;
for (int u = @; u < M; u++){
// Mark all jobs as not seen
// for next applicant.
bool seen[N];
memset(seen, O, sizeof(seen));
// Find if the applicant 'u' can get a job

RNBEEMNERLEE 12 5 3 B -
> ERMEI-—EFRETEMBEANER . RMANBECLEAERN
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if (bpm(bpGraph, u, seen, matchR)) result++;

return result;

}

int main(){

bool bpGraph[M][N] = {{e, 1, 1, o, o, 0},
{1, 0, 0, 1, 0, 0},
{e) a} 1) 0) a} 0})
{0) e) 1) 1) e) 0})
{6, o, 0, 0, 0, 0},
{6, @, 0, 0, 0, 1}};
cout << "Maximum number of applicants that can get job is "

<< maxBPM(bpGraph);

8.7 Hungarian

// Time: O(VE)

const int INF = 2e9;
const int N = ? ; /] BREAE; % id: 6 ~p> B
+1 ~ N-1
int vis[N], rnd, m[N]; // BREGFINEAEHERFEFNU
E VN
vector<int> g[N]; /] BEE
int dfs(int s) {
for (int x : g[s]) {
if (vis[x]) continue;
vis[x] = 1;
if (m[x] == -1 || dfs(m[x])) {
m{x] =s, m[s] = x;
return 1;
}
} return ©;
}
int hungarian(int p) { // p : XHEAH
memset(m, -1, sizeof(m));
int ¢ = 0;
for (int i = 0; i < p; i++) {
if (m[i] == -1) {
memset(vis, 0, sizeof(vis));
c += dfs(i);
}
} return c; // BINGEEHH
¥

/I BFMEBEENELE ZH9BEHEAREE 0(EVY)
int n, m, vis[maxn], level[maxn], pr[maxn],
vector<int> edge[maxn]; // for Left
bool dfs(int u) {
vis[u] = true;
for (vector<int>::iterator it = edge[u].begin();
it != edge[u].end(); ++it) {
int v = pr2[*it];
if (v == -1 ||
(!vis[v] && level[u] < level[v] && dfs(v)))
prlu] = *it, pr2[*it] = u;
return true;

pr2[maxn];

id:

{

p

42 } return false;
43|}
44| int hopcroftKarp() {
45 memset(pr, -1, sizeof(pr));
46 memset(pr2, -1, sizeof(pr2));
a7 for (int match = 0;;) {
48 queue<int> Q;
49 for (int i = 1; i <= n; ++i) {
50 if (pr[i] == -1) level[i] = 0, Q.push(i);
51 else level[i] = -1;
52 }
53 while (!Q.empty()) {
54 int u = Q.front(); Q.pop();
55 for (vector<int>::iterator it = edge[u].begin();
56 it != edge[u].end(); ++it) {
57 int v = pr2[*it];
58 if (v != -1 && level[v] < 0)
59 level[v] = level[u] + 1, Q.push(v);
60 }
61 }
62 for (int i = 1; i <= n; ++i) vis[i] = false;
63 int d = 0;
64 for (int 1 = 1; i <= n; ++i)
65 if (pr[i] == -1 && dfs(i)) ++d;
66 if (d == @) return match;
67 match += d;
68 }
69| }
8.8 EulerCircuit
1| BEaE: IRBEAMBNEHLATY IFERURE -5 5
AHELE AR ZRNBERTLREH IFERAER -
2. AAE: URBE—HNEEZFRAE+L BE-HNAE
ENHE+ HBHEARE SREE WEERURKE > LT
DRABEEE; MREPNBAEERLEE - Al FERUE
% o
9 sortingAndSearching
9.1 NestedRangeCheck
1| #include <bits/stdc++.h>
2| #pragma GCC optimize("03","unroll-loops")
3| #define I0 cin.tie(@), ios::sync_with_stdio(®)
4| using namespace std;
5| #define int long long
6| typedef pair<int,int> pii;
7
8| int32_t main(){
9 I0;
10 int t, r;
11 cin >> t;
12 vector<int> a(t), b(t), aa(t), bb(t);
13 vector<pii> v(t);
14 map<pii,int> mp;
15




16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

(SN R

© 0w N o

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

MCU-NL

15

for(auto &[1, r]: v){
cin >> 1 >> r;
r *= -1;
mp[{1,-r}] = mp.size();

sort(v.begin(),v.end());
for(auto &n: v) n.second *= -1 ;
r = v[@].second;

for(int 1 = 1; i < t; i++){
if(v[i].second <= r) a[i] = 1;

else if(v[i].second > r) a[i] = @ , r = v[i].second;

if(v[i-1] == v[i]) a[i-1] = a[i] = 1;

r = v.back().second;
for(int i = v.size() - 2 ; i > -1 ; i--){
if(v[i].second >= r) b[i] = 1;

else if(v[i].second < r) b[i] = @ , r = v[i].second;

if(v[i] == v[i+1]) b[i+1] = b[i] = 1;
}

for(int 1 = @0; 1 < t; i++){

aa[mp[v[i]]] = a[i];
bb[mp[v[i]]] = b[i];

for(int 1 = @; i < t; i++) cout << bb[i] << " " ;
cout << endl ;
for(int 1 = @; i < t; i++) cout << aa[i] << " " ;

cout << endl ;

9.2 NestedRangesCount

#include <bits/stdc++.h>

#include <ext/pb_ds/assoc_container.hpp>

#include <ext/pb_ds/tree_policy.hpp>

using namespace __gnu_pbds;

#define multiset tree<int, null_type,less_equal<int>,
rb_tree_tag,tree_order_statistics_node_update>

/**

order_of_key (k)

find_by_order(k):

*% /

#pragma GCC optimize("03","unroll-loops")

#define IO cin.tie(@), ios::sync_with_stdio(®)

using namespace std;

#define int long long

typedef pair<int,int> pii;

nums strictly smaller than k
index from @

int32_t main(){
I0;
int t, r;
cin >> t;
vector<int> a(t), b(t), aa(t), bb(t);
vector<pii> v(t);
map<pii,int> mp;

for(auto &[1, r]: v){
cin >> 1 >> r;
r *= -1;
mp[{1,-r}] = mp.size();

AW N
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}
sort(v.begin(),v.end());
for(auto &n: v) n.second *= -1 ;

multiset cnt;

r = v[@].second;

for(int i = 0; 1 < t; i++){
cnt.insert(v[i].second);

a[i] = cnt.size() - cnt.order_of_key(v[i]

}

cnt.clear();

r = v.back().second;

for(int i = v.size() - 1 ; i > -1 ; i--){
cnt.insert(v[i].second);

b[i] = cnt.order_of_key(v[i].second+1)-1;

for(int i = 0; 1 < t; i++){
aa[mp[v[i]]] = a[i];
bb[mp[v[i]]] = b[i];

for(int i = @; i < t; i++) cout << bb[i] <«
cout << endl ;
for(int i = 0; i < t;
cout << endl ;

i++) cout << aa[i] <«

9.3 SubarrayDistinctVal

Given an array of n integers, your task is to calculate the
number of subarrays that have at most k distinct values.

Input
The first input line has two integers n and k.

Output
Print one integer: the number of subarrays.

Input:
52
12311
Output:
10

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")
#define IO cin.tie(@), ios::sync_with_stdio(®)
using namespace std;

#define int long long

int32_t main(){
int n, t, 1, c = 0,
vector<int> v(n);
map<int,int> mp;
for(auto&n:v)cin>>n;
1 =0;
for(int 1 =0 ; i < n ;i++){
if(Imp[v[i]]) c ++;
mp[V[i]] ++;
while(c > t){
mp[v[1]] -- ;

ans = @; cin >> n >> t;

.second)-1;
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if(Imp[v[1]]) c--;

1++
}
ans += 1 - 1 + 1;
}
cout << ans << endl ;

9.4 missingCoinSum

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")
#define I0 cin.tie(@), ios::sync_with_stdio(®)
using namespace std;

typedef long long 11;

int main(){
I0;
11 n ; cin >> n ;
vector<1ll> v(n) ;
for(auto&x:v) cin >> x ;
sort(v.begin(),v.end());
11 i=v[e] , j =1 ;
if(i>1){
cout << 1 << endl ;
return 0 ;

for(;j<n;j++){
if(v[j]>i+1) break;
i+=v[j];

cout << (11)(i+1) << endl ;

9.5 sumOfFourValues

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")
#define I0 cin.tie(®@), ios::sync_with_stdio(®)
using namespace std;

#define int long long

#define pii pair<int,int>

int32_t main(){

int n, t; cin >> n >> t;

vector<int> v(n);

for(auto&n:v) cin >> n;

map<int,pii> mp;

for(int i = @; 1 < n; i++){
for(int j = i+1; j < n; j++){

if(mp.count(t-v[i]-v[j])){

cout << mp[t-v[i]-v[j]].Ffirst+1l <<

t-v[i]-v[j]].second+1l <<
" << j+1 << endl;
return 0;
}
}

<< i+l <<

for(int j = @; j < i; J++)mp[v[i]+v[j]] = {i,3};

<< mp[



MCU-NL

16

cout << "IMPOSSIBLE" << endl;

¥

// 3 val

#include <bits/stdc++.h>

#pragma GCC optimize("03","unroll-loops")
#define IO cin.tie(@), ios::sync_with_stdio (@)
#define int long long

using namespace std;

typedef pair<int,int> pii;

int ans = 0;
vector<pii> v;

int binarySearch(int 1, int r, int target){

1++ , r--;
while(1l<=r){
int mid = (1l+r)/2;
if(v[mid].first == target){
ans = 1;

return v[mid].second;

}
else if(v[mid].first < target) 1 =
else r = mid-1;

mid+1;
}
return -1;

¥

int32_t main(){

int n, t, 1, r, m; cin >> n >> t;
v.resize(n);
for(int 1 = @; 1 < n ; i++){

cin >> v[i].first;
v[i].second = i+1;

}
sort(v.begin(),v.end());

for(l = 0; 1 < n; 1++)
for(r = 1+1; r < n; r++){
m = binarySearch( r, n, t - v[1].first - v[r].
first);
if(ans){
cout << v[1l].second << " " << m<< " "
].second << endl;
return 0;
}
cout << "IMPOSSIBLE\n";

10 Other

10.1 iEE

1| from decimal import*

2| getcontext().prec =
3| n =

1000000
Decimal(input())

<< v[r
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10.2 inversion

// 1
int inversion(){
11 Length,now,
Multiset place;
cin >> Length ;
for(int 1 = @ ; i < Length ; i++){
cin >> now ;
place.insert(now) ;
ans += 1 - place.order_of_key(now) ;

ans = 0;

}

return ans ;
}
/]2
void Merge(int a[],int b,int m,int e){
int ap = b,bp=m+1,cp=0,sum=0;
static int c[MAX];
while(ap<=m&&bp<=e){
if(a[ap]<=a[bp]l)c[cp++]=alap++],ans+=sum;
else c[cp++]=a[bp++], sum++;

while(ap<=m)c[cp++]=a[ap++],ans+=sum;
while(bp<=e)c[cp++]=a[bp++];
for(int k = 0;k < cp;k++)a[b+k]=c[k];
}
void Merge_Sort(int a[],int b,int e){
if(e-b<1l)return;
int m =(b+e)/2;
Merge_Sort(a,b,m);
Merge_Sort(a,m+l,e);
Merge(a,b,m,e);

REAR1E

vector<int> v(1000),b(1000);
for(auto&n:v)cin>>n;
sort(v.begin(),v.end());

10.3

auto len = unique(v.begin(),v.end())-v.begin();
v.resize(len);
for(int 1 = @; i < v.size(); i++){

b[i] = lower_bound(v.begin(),v.end(),v[i])-v.begin();
}

10.4 Convert

stoi
stoll
to_string

10.5 minSwap

int minSwaps(vector<int> &arr,
pii arrPos[n];

int n) {
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for (int 1 = 0; 1 < n; i++) {
arrPos[i].first = arr[i];
arrPos[i].second = i;

sort(arrPos, arrPos + n);
vector<bool> vis(n, false);
int ans = ©@;
for (int 1 = 0; i < n; i++) {
if (vis[i] or arrPos[i].second == i) continue;
int cycle_size =0 , j =1 ;
while (!vis[j])
vis[j] = 1;
j = arrPos[j].second;
cycle_size++;

if(cycle_size > @) ans += (cycle_size - 1);

return ans;

EX

#include"bits/stdc++.h"
using namespace std;

10.6

#define
#define
#define
#define
#define

11 long long
pii pair<int,
ql first.first
qr first.second
id second

int>

int N, Q, K;

vector<int> A;
vector<pair<pii, int>> grys;
11 ans[200007];

void init(){
cin >> N >> Q;
K = N / max((int)sqrt(Q), 1); // A K/

A.clear();A.resize(N);
grys.clear();qrys.resize(Q);

for(auto&i : A)cin >> i;

int cnt = 0;

for(auto&i qrys){
cin >> i.ql >> i.qr;
--i.ql;--i.qr; // @I 0-base
i.id = cnt++;

}

}

void solve(){
sort(qrys.begin(), qrys.end(),
[&](const pair<pii, int> &a, const pair<pii, int> &b){
if(a.ql/K == b.ql/K) // ERIRIERE > RBEARER
return a.qr < b.gr;
)retur‘n a.ql/K < b.ql/K; // &I HBRERREF
3
int 1 =0 // MBEEENDO

, P=-1;
11 sum = 0;
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42 for(auto&i : qrys){

43 while(l > i.ql){ 1--; sum += A[1l]; } // HEHEAER
44 while(r < i.qr){ r++; sum += A[r]; } // EBEAHER
15 while(l < i.ql){ sum -= A[1]; 1++; } // R@BER
16 while(r > i.gr){ sum -= A[r]; r--; } // REAER
47 ans[i.id] = sum;

48 }

49

50 for(int 1 = @; i < Q; i++) cout << ans[i] << '\n';
51| }

52

53| int main(){

54 init();

55 solve();

56| }
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